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SI. No.1
QBID:1555071

Identify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1) m

(2) with

(3) for

(4) by

Fraffea § ¢ & o dged oo e 8 2
1) &

(2) =

3) 7

(@)

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

Identify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eve view of the courses offered in the Hansraj College .

(1) an objective view

(2) a detailed presentation

(3) an elaborate description

(4) a general view
Frafafad & 3 P1--91 ¥ea "R U BT § 2
(1) SN, BN

() 9%, eEd

(3) dEHI PG

(4) PICH. SH

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.

For the last seven months I in this company.

(1) am working

(2) has been working

(3) have been working

(4) have worked

T & For =9 F ot 9% & ST §1F &7 H1d W9he Bid ¢ 94 BH-H PRP BEd § 2
(1) HABRD

) HHGRSD

(3) AMUgH PRE

(4) HEEHFREG




1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬂaﬁmﬁﬂﬁﬂ%:Qﬁﬂﬁ-ﬁﬁﬂq(AssertionAj%Wﬁﬁ@ﬁ%ﬁmmm{ReasonR)aEWﬁ:
iy A - v fagmor sfdel I== 8 |
FRUIR : 1 & YO H3A & 915 Thaiagivo &1 Y §¢d Sar g |

JRIET P o 3Telled B, i fGU U [qepedl O I gl 3R &1 94 Difory -
(1) A SRR I TAE ARR. AT T AT

(2) A 3R R 3 T €. Wb R, A BT ST oIRem 16T @

(3) AT E. PR 3T S

4) A3NAT. APTRITT

1[Option ID=45077]
2[Option ID=45078]
3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Aviay

(4) Archves

-1 & 1Y YAI-11 BT 5 BIorg -

T 1 T I
(=) ki1l i)
A |3RTT L |
B. |[Jod I |6
c. |facu L |3gey
D. |7 W o
il fdu U faoedi 1 § 98! Sux &1 994 Pl -

(1) A-IV. B-III C-I. D-II
(2) A-IL B-III. C-IV, D-I
(3) A-L B-II, C-IIL. D-IV
(4) A-IL. B-IV. C-III, D-1
1[Option ID=45081]
2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076

Identify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?




(1) When Ajay returned my shirts 7
(2) When will Ajay returned my shirts ?
(3) When 1s Ajay return my shirts ?

(4) When did Ajay return my shirts ?

:ﬁaa}rmﬁ—q@%:@WW(ASS&HiOHA]%Wﬁ%@H%FﬁWWW{ReasonR)aiwff:
B A - TR Wi &1 aren § [l gad oufdd Sl YR Wiges (AR a1l
TRUIR : 54 JoTax & o g 57 |

JRIKT PYA & el H, i fSU U [dbedl & I et 30k &1 9-9d BIfey —
(1) A SRR I TAE ARR. AT T AT

(2) A 3R R 3 T €. Wb R, A T ST oaRem el 8

(3) AT E. PR 3T S

(4) A3NAT. APTRITT

1[Option ID=45085]
2[Option ID=45086]
3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok, "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok, "Taj Mahal is the Seventh Wonder of the World".

Pt IPH-agm T =i 2 -
(1) HPRIA-YUT

(2) SPHRI - HIg

(3) SRR -HY

(4) FHEPRI - HIG

1[Option ID=45089]

2[Option ID=45090]

3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain

P : that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) POQSR
(3) RSQP
(4) SQRP




-1 & 1Y YI-11 DT e S -

T 1 et I

A |0 ¥ v gs Suid 1 [og®

B. |ford UR ¢El ol U I PR ID|
C. [Siug- arg &l L [gRazl
D. |t & @l & & woc A gan vA | v [oifsfie

+d U U A edl U ¥ 9gl 3R &1 994 BIfor -
(1) A-IV. B-IIL, C-II, D-I

(2) A-IIL B-IV. C-I, D-II

(3) A-IL B-I, C-IV, D-IIT

(4) A-L B-IIL C-II, D-IV

1[Option ID=45093]

2[Option ID=45094]

3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast, had a shower, and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast, had a shower. and went to school.

(4) She ate her breakfast, had a shower, and was going for school.

frafaRead & ¥ 3gu ary Rifgd sifvu -
W) WRS:HAATCE |

2 AT MAATAE |

() dE & S: A TG |

(4) WEIHS; AMARTAE |

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

fFaRd S gs =3 -
Afpg
B. MT<ifarg
C. I=ad
D. IH@R
E. ®aid!
i f4u U fasedl O § 98! Sux &1 994 BTl -
(1) C.D3RE
(2) B.C3RE
(3) C.D.E3RA
(4) A.B3RC

1[Option ID=45005]




2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?

(1) Chalukya King Pulikeshi IT

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna I

&7 2 e TR R o Frfon s 2
(1) dlJa 2MHP liﬂcb*éﬂ II

(2) TR =T

(3) A IIe e
(4) JITHT S HW [

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Sambhitas ?
(1) Atharvaveda

(2) Yajurveda

(3) Samaveda

(4) Rigveda

YR i o1 37 fFifed fog dfds Sfeardgeng 2
(1) spudag

(2) T9dg

(3) YHdg

(4) g

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

SlI. No.13
QBID:15550713

Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A. Women
B. Warriors
C. Merchants
D. Shudras

Choose the correct answer from the options given below :
(1) Aonly

(2) AandD only

(3) Aand C only

(4) Donly




Sigyd 7 9T F Tk iR U8 Faifed g o o s o § it 7 39 IR e meayul e ST 2

A. Tigaraif
B. dlGl
C. SRt aTf
D. &
A feT aT fadhedl # & @eW IUYFd IW H T94 FfST -
(1) Had A
(2) HadA IRD
(3) HaTAARC
(4) FFAD

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India is empowered to make which of the following appointments ?

A. Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandD only

(3) Aand C only

(4) A, CandD only

Profrfea 8 9 R o) PR & g Ra % Tyl o et o 2 2

A I HHE
B. WIHHUT HeTgf

C. HRd & e g

D. a1g 31 UHE

19 faw e fasedl H 3 I8l SR &1 98- B :
(1) PIAA. B3R D

(2) Had A ARD

@3) FadAARC

(4) FHad A, C 3R D

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A Tt has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 229 October 2014,

Choose the correct answer from the options given below :




(1) A, BandD only
(2) Aand B only

(3) AandD only

(4) A.B.CandD only

T YRA-YF e & aR B FefaRid e S sua g6t €2
A. TG Y 1.41 ORG BRIS § 3R Y 5 aul | fparad fear sme |

B. 5@ IS HATH. "3 3R el P14 T4 TR HAa0" © |
C.TH 0. Z B 2 41 ¥ UR1 GRTURH fopar mar o |
D. TH.d1.UM. 2 3{aCaR 2014 DI AR GAT YT |

#r BT o7 TFest § & 9Er 39 &1 999 #iaT
(1) HIT A, BIRD

(2) HIT A IRB

(3) Had A IRD

(4) HAIAA.B.C HRD

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh 1u ev"
"keypad pen book bottle" is coded as "gn ty 1u kl"
"computer pen bottle paper” is coded as "cv kl 10 gh"

Which of the following code is used for "pen"
(1) gh
(2) m
(3) ov
(4) io

U fagiy ey g
"book pen mouse computer” PIPC B-er gh iu cv".
"keypad pen book bottle” BT HC g-" gn ty i kl"

"computer pen bottle paper” DI P 8- "cvklio ch".

"pen" %mﬁﬁﬁl@ﬁﬁ@ﬂﬁ@ EEEIRD!

(1) gh
(2)
(3) v
(4) io
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717




In a certain code language,

'Attend class daily good' is written as 9$5, 24%9, 3%6. 24*3

'Begin great any matter' is written as 3 & 3, 8%9. 10*15, 14%4

'Less ervor and fire' is written as 1087, 23%8. 9%14, 24&3

'"Tool better than screw’ 1s written as 16%22. 5321, 10%4. 14%22
According to the given code what will be the code for the word Burst' ?
(1) 8%4

(2) 6%2
(3) 8%2

'Attend class daily good' P 085, 24%9. 386, 24*3 [T T §
'Begin great any matter’ P 3 & 3. 889, 1015, 1434 oG o1 &
Less error and fire' DI 1087, 23%8, 9%14, 24&3 @I 9@ 8

'"Tool better than screw’ @1 16%22. 5321, 10+4, 14%:22 ARAT ST 8 |

SR AU T Fel & 3FTIR Usg Burst BT HE F 8 2
(1) 8%4

(2) 6%2

(3) 8%2

(4) 624

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

Sl. No.18
QBID:15550718

If the symbol '+' means '—' and "*' means /" and vice versa then. what would be the value of following equation ?

4%2/4-2+3
1 7

(2) 3

3) -8

(4) 10

gfe Gord '+ &1 3 — € 3R+ &1 o v § 3R g9 famdia off vy & o Fafafad wiieru s1am s em 2

4*2/4-2+3
1) 7

(2) 3

3) -8

(4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719

If V plays first. which one of the following must be true ?

A. T perform sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately atter Y.
E. W perform immediately after X.




1)
(2)
(3)
(4)

C and E are correct.
Dand E

A and B are correct
C and D are correct

afe v Fad U U &l § df Fafafed § @ e 991 fawe 9@ g o
A T®06d U R UK Gl g |

B. X TR &8 R UG ST & |

C.Z IIad A W Sl & |

D. Y & Q% 18 T IRGMA 31 & |

E. X & QR 91 W IR 31 8 |

< feu U f[asedl O ¥ Ul 3T &1 99 B

(1) CARETRI§

(2) D RE

(3) ARBIEE
(4) CIRDIE§

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end,
Aradhana is moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 fepdll Te & a1a, SR alfe- go! 3R 2 foeil =rell | 39 &1 98 918 gt 3R 10 fowl et | 3 H SRIYA SR faxn & =
I8 | RIS a1 [y R S g a1 ot 2

(1) I
() gfgmor
(3) e
(4) gigm

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways, a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?

1)
(2)
(3)
(4)

7 Q=Y Ud 5 Higesd H 9 ¢ Sawiig 9T &1 997 [ha- BhR 3 faa1 ol Sl o, [ 4 GoW Ud 2 Hieand e §f 2

1)
(2)
(3)
(4)

200
250
350
450

200
250
350
450

1[Option ID=45053]
2[Option ID=45054]




3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 1:4
(2) 1:2
3) 4:1
(4) 2:1

U TP 3R UH 7idl &1 o1 U9 S1ad- SHF & | O T & o &1 9P B Hdlg o SFUTd a1 g 2

(1) 14
(2) 1:2
3) 41
@) 2:1

1[Option ID=45057]
2[Option ID=45058]
3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it, become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years
(4) 45 years

BIg Y=RII Th gl A9 BT X H 15 a9 J SRMAT 81 9l g | foba= awl o a5 o1& 71 81 St 2

@ 1599
@ 30aY
(3) 4099
(4) 4579

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What is the probability of getting a sum 9 from two throws of a dice ?

1)

—
[ ]

(2)

(3)

[T =1 |

&)
il U @1 31 AR teb-! I AT 0 W 31 Bt Wil fbaHii 6 2

1)

[ =]

(2)

(3)

(4)

= O = da] '—'|,_..

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25




QBID:15550725

If the equation 2x? +3x+ p =0 has equal roots, then the value of p 1s
(1) 7/8

(2) 1/8

(3) 89

(4) 9/8

O THBIUN 2.2 4 3x+ p=0 DI IHH A 8. Al p BT T =1 GHIT »
(1) 7/8

@) 1/8

(3) 89

(4) 9/8

1[Option ID=45069]

2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:271504831

Nitrosomonas: a nitrifying bacteria is a
(1) Chemoheterotroph

(2) Chemoautotroph

(3) Photoorgancheterotroph

(4) Photolithoautotroph

TECIBRI Siiary], A ™HA gl
(1) IHRUIYA

() IEEEYIYd

(3) YHTR HETRUS!

(4) YD SRATE!

1[Option ID=48401]
2[Option ID=48402]
3[Option ID=48403]
4[Option ID=48404]

Sl. No.27
QBID:271504832

Which one is not the branch of Microbiology —
(1) Immunology

(2) Virology

(3) Bacteriology

(4) Geology

9 & 9 &= 9 ged offa fagH & wrar 78l 82
(1) yfcRaf fag=

(2) faumy- fage

(3) Sifary - fasm

(4) HfaqT=

1[Option ID=48445]
2[Option ID=48446]
3[Option ID=48447]
4[Option ID=48448]

Sl. No.28
QBID:271504833

Secondary metabolite is synthesized by which phase of growth ?
(1) Lag phase

(2) Exponential phase

(3) Death phase

(4) Stationary phase




ofe 31 v arawr & M7 SUTg=H ued o1 T e 87
(1) PIY G0

(2) wrdig

(3) HH HIR

(@) 18R 3w

1[Option ID=48489]
2[Option ID=48490]
3[Option ID=48491]
4[Option ID=48492]

Sl. No.29
QBID:271504834

Spirulina, which contains about 65 percent protein of its dry weight, belongs to

(1) Actinobacteria
(2) Cyanobacteria

(3) Archae bacteria
(4) Firmicutes

WREAET H, 396 I YR Bl 6s Woma UidHgidigIag S 9dfa gl
(1) A

() ! gaeta

(3) 31ey Sffary

4) wHfae

1[Option ID=48533]
2[Option ID=48534]
3[Option ID=48535]
4[Option ID=48536]

Sl. No.30
QBID:271504835

The end product of the denitrification process is —
(1) Oxygen

(2) Nitrite

(3) Nitrogen gas

(4) Ammonia

fETsdimRur &1 3ifo SaE FH A 82
(1) 3HiqHieH

(2) IRgIRE

(3) FEClH 9

(@) ST

1[Option ID=48577]
2[Option ID=48578]
3[Option ID=48579]
4[Option ID=48580]

Sl. No.31
QBID:271504836

Which antibiotic inhibits transeription of DNA during protein synthesis?
(1) Penicillin

(2) Rifampicin

(3) Chloromycetin

(4) Caphatosporin

TEH TYQAY & $1F I UASa® S1UA.U. & SHaEH 3 309G 87
R EIEIfE]

() ISHIRE

(3) FARMISRIET

(4)




BPICII

1[Option ID=48621]
2[Option ID=48622]
3[Option ID=48623]
4[Option ID=48624]

Sl. No.32
QBID:271504837

Which is net a structural gene of Lac operon?

1) Z

(2) A

3 I

@Y

75 & 9 &5 1 d@ TR &1 I=-TaS o Tol 87
1) Z

(2) A

31

@Y

1[Option ID=48665]
2[Option ID=48666]
3[Option ID=48667]
4[Option ID=48668]

Sl. No.33
QBID:271504838

Ribozymes are catalytically active molecules of
(1) Protein

(2) Ribosomes

(3) RNA

(4) Ribulose

JEAITEE SR ¥0 ¥ [Fud afea sy e
) idH

(2) SEEH

(3) ARTAT.
(4) g

1[Option ID=48693]
2[Option ID=48694]
3[Option ID=48695]
4[Option ID=48696]

Sl. No.34
QBID:271504839

Type IV secretion system is involved during gene transfer in
(1) Conjugation

(2) Transformation

(3) Transduction

(4) Transfection

fepgas o WHTGRUT § 215y 1v &1d WUl & UaiT gldl 82

(1) HgHEA
(2) FUIdR0r
(3) URGHT
(4) ZEBaRF

1[Option ID=48697]
2[Option ID=48698]
3[Option ID=48699]
4[Option ID=48700]

Sl. No.35
QBID:2715048310

Which non-leguminous plant forms symbiotic association with Rhizobium ?

(1) Casurina




(2) Parasponia

(3) Panicum
(4) Alnus

B Y R - ScligR 11 Tewifegd & 91y Jeoidl Geadl s1d 82
) FEI

() R

@) I&H

ORCIGEr

1[Option ID=48405]
2[Option ID=48406]
3[Option ID=48407]
4[Option ID=48408]

Sl. No.36
QBID:2715048311

How many ATP are produced during glucose fermentation —
(1) 2ZATP

(2) 10 ATP

(3) 5ATP

(4) 1ATP

I fapvad § faram w.dt il Sma s 8
(1) 2T
(2) 10T2rdl
(3) 5T
(4) 1Tl

1[Option ID=48409]
2[Option ID=48410]
3[Option ID=48411]
4[Option ID=48412]

Sl. No.37
QBID:2715048312

Which fungus is used for lactic acid fermentation in a bioreactor?

(1) Penicillium notatum

(2) Aspergillus niger

(3) Saccharomyces cerevisiae

(4) Rhizopus oryzae

U Sia-fdeH! 3 B I Pas dfeed 3 P [BUa H JHIN a1 Sl & 2
W) G Hiferas FideH

(2) TERTOTT TI57R

() IPIETEe TR

) ITETTY R

1[Option ID=48413]
2[Option ID=48414]
3[Option ID=48415]
4[Option ID=48416]

Sl. No.38
QBID:2715048313

Which of the following bacterium is used as biocontrol agent ?
(1) E.coli

(2) Clostridium

(3) Pseudomonas

(4) Corynebacterium

57  fopw SitaTy] &1 Sa Sfaeaav gole & U § fear o g
) g plg




@) Freiicag

(3) ST
(4) HRIATFINGT

1[Option ID=48417]
2[Option ID=48418]
3[Option ID=48419]
4[Option ID=48420]

Sl. No.39
QBID:2715048314

Which of the following i1s a mobile electron carrier in the mitochondrial electron transport system 7
(1) NADH dehydrogenase

(2) Ubiquinone

(3) FADH dehydrogenase

(4) Succinate dehydrogenase

AEel@ioar & gaae sifra womet &, e & § o a1 nfaefia saeer awe &
1) U3l ud feerEgicry

(2) gfafdaH

3) [P.L3.TE. fSerEgiivry

(4) dFg-e fSeEsiiry

1[Option ID=48421]
2[Option ID=48422]
3[Option ID=48423]
4[Option ID=48424]

Sl. No.40
QBID:2715048315

DNA replicates in which phase of a cell cycle —
(1) M Phase

(2) S Phase

(3) G2 Phase

(4) G1 Phase

I =96 B 5 e d StTE P ufopfa et g -
(1) TH. 33T
(2) U4 gl
(3) T2 a1
(4) Til6 TR

1[Option ID=48425]
2[Option ID=48426]
3[Option ID=48427]
4[Option ID=48428]

Sl. No.41
QBID:2715048316

Agarose 1s extracted from
(1) blue green algae

(2) sea weeds

(3) Cyanobacteria

(4) Zooplanktons

TRY g fpar s gl
(1) HaeRa Jard

(2) HHgl WRUAAR

(3) TG Siam

4) yifqwigs

1[Option ID=48429]




2[Option ID=48430]
3[Option ID=48431]
4[Option ID=48432]

Sl. No.42
QBID:2715048317

Which technique is prepared in the separation of fatty acid methyl ester from a mixture ?
(1) Absorption chromatography

(2) TLC

(3) Gas chromatography

(4) Centrifugation

TS A0 3§ a9 o FUTed S3ek & JUax0l 3§ 6l do-i & 0O fohar s o2
(1) YU AP

2 duad

(3) Ty guicif@a!

(4) UGG

1[Option ID=48433]
2[Option ID=48434]
3[Option ID=48435]
4[Option ID=48436]

Sl. No.43
QBID:2715048318

Which pyrimidine base contains an amino group at carbon 4 7
(1) Cytosine

(2) Uracil

(3) Adenine

(4) Thymine

Fra 4 TR, 8 UrgRIEEH a9 I o=l 948 gidi o2

(1) s

(2) TR

(3) TshHA

(@) yrsHiA

1[Option ID=48437]
2[Option ID=48438]
3[Option ID=48439]
4[Option ID=48440]

Sl. No.44
QBID:2715048319

For the accurate mapping of genes is used.
(1) Three-point mapping

(2) Single point mapping

(3) Two-point mapping

(4) Zero-point mapping

Sl & Gl THRE & [T fget SugiT faar S g2
() Tt A

(2) Ueblag HHH

3) Tefemg amfEo

(4) YAl AHE

1[Option ID=48441]
2[Option ID=48442]
3[Option ID=48443]
4[Option ID=48444]

Sl. No.45
QBID:2715048320

The photosynthetic bacteria, which is not an autotroph is :




(1) Chlorobium
(2) Chromatium
(3) Rhodospirillum
(4) Rhodotorula
(1) FERIeTH
) miHfeas

(3) IASTEREH
4) ISIER

1[Option ID=48449]
2[Option ID=48450]
3[Option ID=48451]
4[Option ID=48452]

Sl. No.46
QBID:2715048321

Name the amino acid which is used as a precursor for Indol-Acetic acid for promoting plant growth
(1) Tyrosine
(2) Tryptophan

(3) Alanine
(4) Serine

a1eY i B Sg aTel THI S H-91 S TS § ol SS1a GRed Uhis o1 g 8
(1) TIERIRA

(2) fepit

(3) Ta-A

@) IRHE

1[Option ID=48453]
2[Option ID=48454]
3[Option ID=48455]
4[Option ID=48456]

Sl. No.47
QBID:2715048322

Which forces mainly maintain the three-dimensional structure of protein?

(1) Covalent
(2) Non-covalent
(3) Coordinate

(4) Both Covalent and non-covalent

W 3T Bremandt TRam o1 wiad: $19 J 9 §91Y 7@d 67
(1) JeHdINid

(2) gD

() gufad

(4) HeYggieid qul HHeSdield giHl

1[Option ID=48457]
2[Option ID=48458]
3[Option ID=48459]
4[Option ID=48460]

Sl. No.48
QBID:2715048323

Bacteriorhodopsin, a pigment which helps in phototrophy and ATP synthesis 1s found in :
(1) Halobacterium

(2) Methanococcus

(3) Sulfolobus

(4) Beggiatoa

e S 0

SRS quies, off BielRE quT U, dl. G2 § 98 gidl €, 98 Uil oidl § -
1)




gaiaeciegH
2 e
(3) Fepicnad
(4) gfigrerar

1[Option ID=48461]
2[Option ID=48462]
3[Option ID=48463]
4[Option ID=48464]

Sl. No.49
QBID:2715048324

In polysaccharides O-glycosidic bond forms between
(1) Anomeric hydrogen and alkoxy carbon

(2) Anomeric oxygen and alkoxy carbon

(3) Anomeric carbon and alkoxy oxygen

(4) Anomeric hydrogen and alkoxy oxygen

giagaiss # o-Tasdikfss a4 [y g aad1 g2
(1) TATHL BISSloH aul Yo a! e

(2) TAHL 3T quT Uep gl Bla-
(3) TAIH PIa- aul Tep g iaeio

() TATR BIEolo aYl Temlal ST

1[Option ID=48465]
2[Option ID=48466]
3[Option ID=48467]
4[Option ID=48468]

Sl. No.50
QBID:2715048325

Penicillin is produced in which of the following process :

(1) Continuous fermentation
(2) Fed-batch fermentation
(3) Batch fermentation
(4) Synchronous culture

g & 9 oo ufgr & tffafem Sarfea siar e
(1) R fbuae

(2) gYRd Muifeud

(3) U7 fhUa

() Ry dada

1[Option ID=48469]

2[Option ID=48470]

3[Option ID=48471]
4[Option ID=48472]

Sl. No.51
QBID:2715048326

The viscosity of double-strand DNA molecule 1s lost due to

(1) Concentration

(2) Denaturation

(3) Filtration

(4) Sedimentation

fg<eiia S1.uA.u. oujef & Ml fwe SR Y 81 &l o°
(1) Hi=udl

) faodieu

(3) e
(4) 3@qea

1[Option ID=48473]




2[Option ID=48474]
3[Option ID=48475]
4[Option ID=48476]

Sl. No.52
QBID:2715048327

Transfer of ‘gene of choice’ from bacteria to higher plant is meditated through :
(1) Binary plasmid system

(2) Shuttle vector
(3) Bacterial artificial chromosome
(4) Cosmids

A o BT ofaT] & I Joft arey F RIHTaR0T & P AR §IR1 9 fodT S 3
(1) TE3T @it yuret

(2) WA IESH

(3) Q1Y) ST U

4) DIEs

1[Option ID=48477]
2[Option ID=48478]
3[Option ID=48479]
4[Option ID=48480]

Sl. No.53
QBID:2715048328

Which of the following acts as infectious agent during Cyanobaeteria-plant symbiosis?
(1) Akinete

(2) Trichome

(3) Hormogonia

(4) Baeocytes

I FE A0 Feuiiaal 4 Fg ¥ 3 S1H-91 GBI Toic $ ave B Bl 62
(1) THHE

(2) TEHH

(3) g

(@) diUge

1[Option ID=48481]
2[Option ID=48482]
3[Option ID=48483]
4[Option ID=48484]

Sl. No.54
QBID:2715048329

In the presence of oxygen. C5 plants photosynthesis is inhibited due to
(1) Decker Effect

(2) Warburg Effect

(3) Deakin Effect

(4) Hexose monophosphate effect

SHiiio o IufRUfA B, ¢: 9Tl &1 TS REUAN f59d SR R el e 2
(1) SHR YH@

(2) gRE YYIg

3) Tule gy

(4) TFEY HHTBERe YHE

1[Option ID=48485]
2[Option ID=48486]
3[Option ID=48487]
4[Option ID=48488]

Sl. No.55
QBID:2715048330

Bt toxin is a protein coded by gene

(1) Cyr




(2) Cry
(3) Biotin
(4) Bt

Bt 9 WICH &1 {653 Gl GRI HeldbR0l §ldl § 2

(1) Cyr

(2) Cry

® amfe

(4) Bt

1[Option ID=48493]
2[Option ID=48494]

3[Option ID=48495]
4[Option ID=48496]

Sl. No.56
QBID:2715048331

In normal phase chromatography

(1) The mobile phase is polar and stationary phase is non polar.

(2) The mobile phase is non polar and the stationary phase is polar.
(3) Both mobile and stationary phase are polar.

(4) Both mobile and stationary phase are non-polar.
SIBIRECRISERICEI R

(1) RIS HawT 4dig 9 R W=l Hyda 1
(2) TS yawT siyda 3 FRR vaw g §|
(3) G AT Waw g (R a1 ydra g |

@) G Tiforiie wawdT @ fRR waw srydia §

1[Option ID=48497]
2[Option ID=48498]
3[Option ID=48499]
4[Option ID=48500]

Sl. No.57
QBID:2715048332

Who is father of ‘environmental microbiology’?
(1) Klyver

(2) Sergei Winograsky

(3) Louis Pasteur

(4) R.Y. Stainer

goiauiig AEdmEEars &1 e $iH 6 2
(1) TFellgdy

(2) Foll SRR

(3) UeHHRER

(4) IR TAE. TN

1[Option ID=48501]
2[Option ID=48502]
3[Option ID=48503]
4[Option ID=48504]

Sl. No.58
QBID:2715048333

Cystic fibrosis is

(1) Sex linked dominant disorder
(2) Autosomal dominant disorder
(3) Sex linked recessive disorder
(4) Autosomal recessive disorder
fafes wesRm®Ig 2

(1) o deet gurdt faer

(2)




SR wHTdt fdeR
() e e syt faer
(4) AT 3Tl fapR

1[Option ID=48505]
2[Option ID=48506]
3[Option ID=48507]
4[Option ID=48508]

Sl. No.59
QBID:2715048334

Which one is known as the topographic abiotic factor

(1) Temperature

(2) Wind

(3) Humidity

(4) Earth Surface

9 & ¥ s W ide siuifldes dR® JH Gldl 82
(1) dT9HIH

(2) 9

(3) Mgl

(4) gl B ¥dg

1[Option ID=48509]
2[Option ID=48510]
3[Option ID=48511]
4[Option ID=48512]

Sl. No.60
QBID:2715048335

DNA s

(1) Positively charge

(2) Negatively charge

(3) Neutral

(4) None of the above
DNAT:

(1) YIS 9 3HfafRrd
) FUTHS 9 F i
(3) I

4) IWRIFT H I PBIg Ao

1[Option ID=48513]
2[Option ID=48514]
3[Option ID=48515]
4[Option ID=48516]

Sl. No.61
QBID:2715048336

Molecular scissor used in genetic engineering is
(1) DNA polymerase
(2) DNA ligase

(3) Restriction endonuclease
(4) Helicase

HHGII A T IUdiT &1 o areil 31fias Pl § -
(1) SIUA.T OlaEd

(2) SLTAY TN

(3) UidaY id-gfaRmed

(4) oo g

1[Option ID=48517]
2[Option ID=48518]




3[Option ID=48519]
4[Option ID=48520]

Sl. No.62
QBID:2715048337

Carragenin. a jelly like substance is derived from marine algae known as
(1) Kelp
(2) Flagellates

(3) Irish moss
(4) Diatoms

I, T ot o g § O 9] 2aTd R U Bl ST § | 59 S $ed & 2
(1) &g

(2) Tefolde

(3) ER=r AN

(a) SMTeH

1[Option ID=48521]
2[Option ID=48522]
3[Option ID=48523]
4[Option ID=48524]

Sl. No.63
QBID:2715048338

The study of the group characteristics of a population. their changes over time. and prediction of future change are known as
(1) Geography

(2) Calligraphy

(3) Demography

(4) Dictography

el S & ATfee @&l 398 G0 & 91y B aTe URad= qy S yfaw 1 g1 aret uRacH! & fawy & sierge ol 9
BB §?

(1) HI IK

(2) g™

() SgiReID!

(4) fsgemret

1[Option ID=48525]
2[Option ID=48526]
3[Option ID=48527]
4[Option ID=48528]

Sl. No.64
QBID:2715048339

The element necessary for translocation of sugars in plant 13
(1) Iron

(2) Boron

(3) Manganese

(4) Molybdenum

TTEUl H W1 & RIFIRU & TSI I1 7ed 31990 62
(1) @

(2) gRIH

(3) H

) HifdegsH

1[Option ID=48529]
2[Option ID=48530]
3[Option ID=48531]
4[Option ID=48532]

Sl. No.65
QBID:2715048340

Ecological succession is a

(1) Fixed process




(2) Dynamic process
(3) Artificial process

(4) None of these
RRRT T s R
) fRRufhar

(2) Hithy yichan

(3) PiAT wfcbal

(4) FH I DI ol

1[Option ID=48537]
2[Option ID=48538]
3[Option ID=48539]
4[Option ID=48540]

Sl. No.66
QBID:2715048341

Which biological agent acts as a mutagen?

(1) Plasmid
(2) Transposon

(3) Cosmid

(4) % phage

oo 7 3 o 91 9fde toie Saitade &1 $1d &l 82
(1) IS

(2) TRAEE

() BIES

4) 5 ol

1[Option ID=48541]
2[Option ID=48542]
3[Option ID=48543]
4[Option ID=48544]

Sl. No.67
QBID:2715048342

Who discovered first Azotobacter as N, — Fixing organism?
(1) H. Wilfarth

(2) Martinus Beijerinck

(3) Kluwar

(4) Robert Koch

Had Ugd Ueliciadex I Arggio MuRur siiam] & &4 3§ iy e
) 9. faepd

) ARy daie

(3) HAR

(4) I B

1[Option ID=48545]
2[Option ID=48546]
3[Option ID=48547]
4[Option ID=48548]

Sl. No.68
QBID:2715048343

which of the following cell organelle does not contain DNA?
(1) Nucleus

(2) Chloroplast

(3) Mitochondria

(4) Lysosome

g DI § S uA.0. 78 U 91 82

1) Hsd




) FRERe
3 H §E 6 i%q[
4) T EG-EG-J H

1[Option ID=48549]
2[Option ID=48550]
3[Option ID=48551]
4[Option ID=48552]

Sl. No.69
QBID:2715048344

Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.

Assertion A : All bacteria have prokaryotic cell type.
Reason R : Bacteria do not contain any membrane-enclosed organelles.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R is correct.

2 21 Py ST T & TP MBYT (Assertion-A) & 9 T AT 8 O THRI 3YP TR (Reason-R) F &Y H

HfirmyT-A Tt Sftarusi &t i Meiae TeR 31 e 8

FRULR - T & BT 2 R Arf & R Ter e

SWRIF] HYA & P 1, 31 [0 U f[deedl & 9 Tal 3R &1 9094 Sl
(1) ARREHITEIT SRR AT el A ©

() ARR A TEE AfFT R, A D S TR TSI ©

() ATSIE AP TR TS TSR

(9) ATEITEIE AR ORI R

1[Option ID=48553]
2[Option ID=48554]
3[Option ID=48555]
4[Option ID=48556]

Sl. No.70
QBID:2715048345

Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.
Assertion A : Bacteria contains 16S rBNA gene, which is used in bio-typing.

Reason R : The 168 tRNA gene is present in the small subunit of ribosomes.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A isnot correct but R is correct.

4 3 B AU MU §: UF ATUBYT (Assertion-A) $ F H ff@d g o S¥R1 39S PRI (Reason-R) & 9 H

HfHYUF-A : AU F 16 S rRNA 9 814 8. fTa1 3991 5 7001 & fau gl g
PRULR : 16 S rRNA S ASTRITH B Bicl SUSHIS & [GaHH I g

SWRIgd B & eI H, -1 f3u T fawel § 3 98t 3 &1 904 Sifow

(1) A SRR EHTE T AR R AP TE TRAT &

(2) ARRIATEE AFTR AT T aRET A B

3) AGEIE. AfPTR GEI S ®

) ATEIAEE AR Ui ©

1[Option ID=48557]
2[Option ID=48558]
3[Option ID=48559]
4[Option ID=48560]




Sl. No.71
QBID:2715048346

Given below are two statements : one is labeled as Assertion A . and the other 1s marked as Reason R.

Assertion A : T4 phage infects the E. coli cells.
Reason R : The T4 phage is capable of undergoing only a lytic eycle.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A isnot correct but R is correct.

SRIGKT HY & el H, - G Y [dhedi & 4 Tad Iugad 9<R &1 98- Bifoiy
2 31 P ST U & TP DU (Assertion-A) B ¥ T [T 8 I THRI IUP BRI (Reason-R) F &Y H

HHYF-A : T, faHIS 3. PieTs DIf®1H ST bihd F=d 3|
PRULR : T, [GUSH Sad T T0H 9 9 oA 1 4701 6 § |

IWRIFT BYA P AP 1, AId (U U f[dHed] § 9 gl 3R &1 994 By
(1) A SRR T8 § SRR AP T8 AR §

@) A SRR TEE APTR AT T AR A R

) AGSIE AfFTR TS SR

(4) AGEITEIE AR TE®

1[Option ID=48561]
2[Option ID=48562]
3[Option ID=48563]
4[Option ID=48564]

Sl. No.72
QBID:2715048347

Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.
Assertion A : The reduction of molecular nitrogen to ammonia requires high activation energy.

Reason R : Molecular nitrogen is an unreactive gas with a triple bond connecting the two nitrogen atoms.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R is correct.

SWRIG BY D el H, = G 7Y [dbedl § 9 9ad IugR IR 31 98- BIolY
1 3 B QU U §: U SHUDYUA (Assertion-A) & &9 T [cIREd ¢ dl GERI 3UD HRUI (Reason-R) & &9 1

HUHYA-A : 3MUIH AZcioq ST SHIHT H AIHR0 & & U 3= Alhaur Sl 1 Sawaadi sl gl
BRULR : AMUGH Ao U SAUTAIhaTRiia 19 ¢ forad ey gid1 g ol ATgelo & &l WA & wisdl g
TRIET FUA & A 5, 4 U U [dwedi & I 98t 3 & 9949 Sifoy

(1) A SRR T8 € AR R A T I T ©

() A SRR EH T8 8, AfFTR, A B IS IR el §

3) AGEIR. AfpTR G LR

(4) AGEITEIE AfpArTEl B

1[Option ID=48565]
2[Option ID=48566]
3[Option ID=48567]
4[Option ID=48568]

Sl. No.73
QBID:2715048348




Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.

Assertion A : Saccharemyces cerevisiae grows both under aerobic and anaerobic conditions.

Reason R : Under aerobic condition it utilizes glucose for the production of biomass and under anaerobic condition it ferments glucose
into ethanol and CO,.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1is correct but R 1s not correct.
(4) A isnot correct but R 1s correct.

SWRIGT HY & 3HTelied B, - [ U [dehedi & 9 9ad Iugad 9k &1 98- Hifuil
9 3 B AU MU §: U SHTUBYT (Assertion-A) $ F9 T [aif&d ¢ o S3R1 39S PRI (Reason-R) & 9 H

Hft@-A - FaRmTg I SR aradia qur sramdia g fRufodt & ofS srar g

PRULR : A (UG T g8 Siadsld & Ide- & o Qe s &1 U Sl ¢ aul Saradig fRfd 1 /e is &1 gy aur co, o
fepfoad arar & |

SWRIad B & e 3, 1 U T faeedl & 3 98 I & 9 St

(1) ARRIFTEIT SRR A DI Tel AR ©

(2) ARRIA T E AFTR AT TS TR TR

@) ATEE AP TR UG TR

4) AFEITEE, AGIRTTI B

1[Option ID=48569]
2[Option ID=48570]
3[Option ID=48571]
4[Option ID=48572]

Sl. No.74
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Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.

Assertion A : A unicellular micro-organism divides by binary fission and forms sigmoidal growth curve during its growth. During death
phase some of the cells are able to survive and grow.

Reason R : In the stationary phase secondary metabolites produced by cells are utilized as nutrients for its survival during death phase.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R 1s correct.

SWRIG HY & 3HTelies B, - [ U [dehedi & 9 9ad Iugad 9k &1 98- Hifuil
9 3 B AU U §: US SHTUBYUT (Assertion-A) $ ¥ T [ifGd ¢ o S¥R1 ITS PRI (Reason-R) & =9 H

HYHYUF-A : TSI 1 Fed -5itd fg I+ gR1 fau1foid 8ia1 8 3R 3ol gfis & SR Ry 9f 9 &91d1 8| S9! 0o A
o S DIBTY Sifad Je- a1 3 B 5 F&H B &

PRULR : AR @R §, SIRMS1s §RI S 10 SUTa=asl $I. Jc] Sawil § sifad 367 & (o 9I9® dd & 9 3 Jar $Rd g |
SRIFd HU F els 1, 719 u T fowedt & @ 98t 3o &1 9u1 wifoe

(1) A SRR A TR T IRR A D UL AT §

2) A3IRREH UE g AfFTR A B G ORI el ©

(3) AT E. AfPAR UEI el &

(4) ATRI ol 6, SPT R Tel &

1[Option ID=48573]
2[Option ID=48574]
3[Option ID=48575]
4[Option ID=48576]

Sl. No.75
QBID:2715048350




Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.
Assertion A : During bacterial transformation single stranded DNA is transferred into cells.

Reason R : Endonuclease located on the cell wall cleave one of the strands of DNA.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R 1s not correct.
(4) A isnot correct but R 1s correct.

SWRIG HY & 3HTalied B, - G U [dehedi & 9 9ad Iugad 9k &1 98- Sifuil
9 3 B AU MU §: US SHTUBYUT (Assertion-A) $ T T [ifGd ¢ o S¥R1 ITS PRI (Reason-R) & 9

HYHYUF-A ; ST SURY & SR TSl S1.07.U S & RyFiaid grar gl
HRU-R : DI (YR R Y Tsl-TfFaus. 1.8 & dgsii § 9 1@ o fogru axar g
TWRIT HYT D el H, -1 fGU MY fahedi & U el IR &1 99 DIy

(1) A SRR EH T8 E IR R AT T6I ARAT &

(2) ARRIATEE AFTR AT TS TR TS B

(3) AFEIE. APTR WG TR &

(4) AYEl Tl 8. AP R FEI &

1[Option ID=48581]
2[Option ID=48582]
3[Option ID=48583]
4[Option ID=48584]

Sl. No.76
QBID:2715048351

Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.

Assertion A : NADP+ is reduced to NADPH is non-cyelic photophosphorylation.

Reason R : NADP is a coenzyme which is reduced to NADPH2. The hydrogen required for formation of NADPH?2 comes from hydrolysis
of water molecule.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.

(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1is correct but R 1s not correct.
(4) A isnot correct but R 1s correct.

SWRIG HY & 3HTalied B, - G U [dehedi & 9 9ad Iugad 9k &1 98- Sifuil
4 3 HY AU MU §: UF SHTUBYT (Assertion-A) $ F9 T i@ ¢ o S¥R1 ITS FRUI (Reason-R) & 9 H

AHFHYA-A - TRADT Bl BFIBRISAYT § NADP™, NADPH & IHHIT BIAT § |
HRULR : NADP UF TGUIEH § NADPH, § GHHIA GIAT § | NADPH, & &1 & f01U S{Ta%ad gIggior oid & S & Jude 9

T Bl 3

SURIad B & STl 4, 9 U e fawedt & & 9g 9k o1 99 S
(1) A SRR EHI 8T SRR, A D] 8l AR €

2) A3RRIF T E AfFTR AT TS T T ©

3) ATEIE AfFTR TS AR

) ATETEIE AR TEE

1[Option ID=48585]
2[Option ID=48586]
3[Option ID=48587]
4[Option ID=48588]

Sl. No.77
QBID:2715048352

Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.
Agsertion A : An important chemical reaction N, — NHj is involved in nitrogen cycling in an ecosystem.
Reason R : The organisms associated with this chemical reaction is Nostoc.

In the light of the above statements. choose the most appropriate answer from the options given below :




(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R 1s correct.

T & Py Ry T

BYA-1 : T TIRFRUTTT & Argetor 90§ 8H Kl U He@yu! I sifiifed 8 N, —NH;
BYA-II : ARCID IS ST ¥ Yde Sid |

SR T & 3Nelld H, 9 fEu e wed # 3 adt SO &1 997 oife
(1) HYTIIRIIEH TI§

2) PU1 AR IS ST

(3) HYF1TA B, At HUF I 3R &

(4) HUF1 3ITA ¢, Afb- HYT 11 I §

1[Option ID=48589]
2[Option ID=48590]
3[Option ID=48591]
4[Option ID=48592]

Sl. No.78
QBID:2715048353

Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.
Assertion A : Mitochondria and chloroplast have their own DNA.
Reason R : They are called semiautonomous organelles since their DNA encode proteins required for metabolic functioning of
mitochondria and chloroplast.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R 1s correct.

I 3l Py ﬁq M % =) HipyT (Assertion-A) %= d fafegd % al R ISP DR (Reason-R) TEIH

HHUT-A ; ATSeIP ST JUT FARTTIRE $T 30 SLEA.T ST 8l

PRULR : 3¢ ot WHIE SIS Fed & diid 51®1 o011 Aol a4 FTRIWRE & 39999 & U § Ha0H
e $I Poag axal gl

SWRIFT BYA & AP 1, AId (U U [dFHed] & 9 gl 3R &1 909 oY

(1) ARRTF GAE IRRAD T8 ARST ©

(2) A SRR GAE, dfh R, A D! T8I AT T8l &

(3) A S, AfPTR TT B

(4) AHIE. APTRITR

1[Option ID=48593]
2[Option ID=48594]
3[Option ID=48595]
4[Option ID=48596]

Sl. No.79
QBID:2715048354

Given below are two statements : one is labeled as Assertion A . and the other i1s marked as Reason R.
Assertion A : E.coli 1s a coliform bacterium.
Reason R : Coliform bacteria are indicator of water quality.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R is correct.




SWRIGd HYT & 3Tai 1, = U U fawed] § 9 9ad IugHR IR ST 98 BI91U
14 31 PUH ST U §: U 3B UH (Assertion-A) & &0 T [A7RET 8 A1 GERI IUD HRUI (Reason-R) & =Y H

HUBHYF-A : 5. FITE UP HlIagE0l Siam |

PRULR : DIl o] Sid &1 UIadl & Hbdd g |

JRIFd BYF & A 1, =14 S0 70 fawedi & @ 98t SR &1 994 Fiforg
(1) A SRR EF T8 § SRR A T8 AR §

() A SRR EH T8 8, AR, A B IS IR el §

(3) ATEE. AT R TET TR

(4) AGEITEIE AR TS 8

1[Option ID=48597]
2[Option ID=48598]
3[Option ID=48599]
4[Option ID=48600]

Sl. No.80
QBID:2715048355

Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.
Assertion A : There are three stop codons — amber, ochre and opal.
Reason R : UAG is amber while UGA is ochre.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R 1s correct.

2 1 Py AU TN € TP DY (Assertion-A) B TG T G B T I IYP BRI (Reason-R) I &Y H

HUBYT-A : T TPR & AT UGe 81d © - LA, PR Ul ST |
HRULR : T U VAR & oafd L olu faw B

SWRIFd HYA & dlP 1, 31d (U U f[deed] & 9 Tal 3R &1 9494 Sl
(1) A SRR EH T € SRR A DI UG U §

(2) A JRRGH T8I €. AfG-TR. A B TS ARAT Tol ©

3) AGElE. APTR W T B

) AFEITIE. dipTR TR

1[Option ID=48601]
2[Option ID=48602]
3[Option ID=48603]
4[Option ID=48604]

Sl. No.81
QBID:2715048356

other is marked as Reason R.
Assertion A : Heterocyst contains N - fixing enzyme nitrogenase under anaerobic condition.

Reason R : Heterocyst lacks PSILL
In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R is correct.

4 3 B AU TN §: US SATUBYT (Assertion-A) $ F9 T f7REd § o S¥R1 39S PRI (Reason-R) & 9 H

HfYHYF-A ; e fRufq § genge § N, FuRor tegy Eeieme g Sar g
HRULR : SRR H PSIL &1 HHI gldl

TRET FYA & A 5, 4 3 T fGwei & I U8 S| &1 994 Sifoy




(1) A SRR 3 TE E 3R R. A B IE ARSAT @

(2) ARRIATEE AFTR AT T R A R
@) ATEE AFTR TS TR

) ATETEIE AR TEE

1[Option ID=48605]
2[Option ID=48606]
3[Option ID=48607]
4[Option ID=48608]

Sl. No.82
QBID:2715048357

Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.
Assertion A : Lambda phage infect K12 strain of E.coli.
Reason R : Lambda is a temperate phage which cause lysogeny in E.coll.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1is correct but R 1s not correct.
(4) A isnot correct but R 1s correct.

1 3 B [T TN & U SHUBYA (Assertion-A) & &4 T [T § ol G¥RI 3UD HRUI (Reason-R) & &9 1

HYHYA-A : TESIDR [GUIS 5. BIATs & K, , [ddTd B Uehitd Hal |
PRULR : 3T TS fguish § 91 5. oids 3 aguiedl & $RU sl gl

JRIFd BYF & M H, 714 20 70 fgmedi & T 98l SR &1 994 Fiforg
(1) A SRR T8 € AR R AT I AT ©

() A SRR EH T8 8, AfFTR, A B IS IR el §

() ATEE AfpTr TEt ST R

(4) AGEIEIE AR TS 8

1[Option ID=48609]
2[Option ID=48610]
3[Option ID=48611]
4[Option ID=48612]

Sl. No.83
QBID:2715048358

Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.

Assertion A : Chlorophyll a — 1s universal chlorophyll, found in organisms: algae to higher plants.
Reason R : Chlorophyll-a forms reaction center in photosynthesis.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A 1isnot correct but R 1s correct.

2 1 Py AU TN € TP DY (Assertion-A) B TG T G B T I IYP BRI (Reason-R) I &Y H

HFYUF-A : FARINBT - 2 TP UG FaRibd & of i oftal. Tara T da 3= 40f Iredl & ur S
BRULR : FTARINE S - a URTLHLTAT0T H HfHHTT &1 = s9ar |

SWRIFd HYA & dlP 1, 31d (U U f[deed] & 9 Tal 3R &1 9494 Sl
(1) A SRR GHI TSI § IR R. A DI el IR 8

2) A SRR TG E APTR AT T R AT B

() ATEIE AR TS &

(9) ATEEIE AR TR R

1[Option ID=48613]
2[Option ID=48614]




3[Option ID=48615]
4[Option ID=48616]

Sl. No.84
QBID:2715048359

Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.
Assertion A : Roots of higher plants secretes carbohydrate, amino acids. vitamins into rthizospheric soil.
Reason R : Plant growth promoting rhizobacteria convert amino acid tryptophan into TAA.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R 1s not correct.
(4) A isnot correct but R 1s correct.

1 3 B [T TN & U SHUBYA (Assertion-A) & &4 T [T § ol G¥RI 3UD HRUI (Reason-R) & &9 1

HYHYA-A - 3 JUINTG UT9S] @i ofe GauaRil Gal ¥ sreigigge. SHH Uis aut faeri= anfad &1
HRULR : UIGHI 1 IS P SFER T aTaT g ilade el ST UfEs f2pithd &1 1aa ¥ gfafdd sxar 3|
SWRIFI BYA & P 1, AId (U U f[dHedl © 9 el 3R &1 994 Iy

(1) A SRR TGl § IRR A D! Te! ARAT §

(2 A SRR T8 5, AT R, A I T8 AR Tl ©

(3) AHg! . dfcbT R WEl 761 §

(4) AHEI eI E, AP R FEI 8

1[Option ID=48617]
2[Option ID=48618]
3[Option ID=48619]
4[Option ID=48620]

Sl. No.85
QBID:2715048360

Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.
Assertion A : Troposphere lies above lithosphere and hydrosphere and contain Aerosols.

Reason R : Bioaerosols in the troposphere contain spores of fungi.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A 1isnot correct but R 1s correct.

2 1 Py AU TN € TP DY (Assertion-A) B TG T G B T I IYP BRI (Reason-R) I &Y H

HUFHYF-A | YAHST U TTAHST I FIR &risd sia & ford ag faea grar €1
HRULR : &iyHsd 4 via 9y faedl & Sas & diaiv] sid g |

SWRIFd HYA & dlP 1, 31d (U U f[deed] & 9 Tal 3R &1 9494 Sl

(1) A SRR EHI U8 E R R, A D] el U 8

@) A 3IRREH 98I . dfd- R A B U ORAT 51 §

3 AYEIE. AfPTR WEEI®

(4) ATEIEIE AR TRl R

1[Option ID=48625]
2[Option ID=48626]
3[Option ID=48627]
4[Option ID=48628]

Sl. No.86
QBID:2715048361

Given below are two statements : one is labeled as Assertion A | and the other is marked as Reason R.
Assertion A : Proteins upon hydrolysis with concentrated HCl at 100°C for 20 hours yield amino acids in the form of their
hydrochlorides.
Reason R : Threonine is destroyed during acid hydrolysis.
In the light of the above statements. choose the most appropriate answer from the options given below :




(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A 1is correct but R 1s not correct.
(4) A isnot correct but R 1s correct.

SWRIKT HYA & 3Telies B, = fGU U [dhei & @ Tad Iugad 3k &1 99 Sl

19 31 PUH 4T U §: U 3P U (Assertion-A) & &0 T [T § A1 G8R1 39D HRUI (Reason-R)  FUH
SHUHYH-A : 20 ¥eI dF 100°C |R T HCL & F1Y Td-309e R AEH, SEglciNGgs & 98 sHA tRIS e § |
PRULR : 3 Td-HT9eq & i Ay g S g

SWRIFT HYA & P 1, -1d (U U f[dFHed] § 9 el 3R &1 994 Iy

(1) A SRR EHUE§ AR R A DT GEl RS &

(2) A SRR TSI AfPTR. AT IS IR T &

(3) AGEIE. AP R TS Rl @

(4) ATEI IS, AT R TR &

1[Option ID=48629]
2[Option ID=48630]
3[Option ID=48631]
4[Option ID=48632]

Sl. No.87
QBID:2715048362

Given below are two statements : one is labeled as Assertion A . and the other is marked as Reason R.

Assertion A : Nueleotides may have one. two or three phosphate groups covalently linked at 5° OH of ribose.
Reason R : The hydrolysis of ATP is an exergonic reaction.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R is not correct.
(4) A isnot correct but R 1s correct.

SWRIdd B & 3Teiier 1, 1= fGU MU fahedi § 4 999 Sugdd IR &1 997 Bl
1 21 PUH ST U §: U 3B U (Assertion-A) & =0 T [REd § a1 GERI IUD BRUI (Reason-R) =YY

HIYHYA-A - FEAAITGS & U &l g1 A BIHe YHE U561 & 5' OH TR GgHdle-dbdl a9 gld g |
PRULR : T ST 9d - 309e U Sunam! sififhar g

SR B & 3iTelie 8, 919 feu e fawedi 8§ I 9dl IR &1 997 S

(1) A SRR EH T8 § AR R AT TE TR &

(2) A SRR T E AFTR AT T R A 2

(3) AYEIE. APTR W TR &

(4) AYEITEIE. AP R WL &

1[Option ID=48633]
2[Option ID=48634]
3[Option ID=48635]
4[Option ID=48636]

Sl. No.88
QBID:2715048363

Given below are two statements : one is labeled as Assertion A , and the other is marked as Reason R.
Assertion A : Alleles separate during gametogenesis.

Reason R : Separation of factors is due to the segregation of chromosomes during meiosis.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A isnot correct but R 1s correct.




SWRIGd HYT & 3Tai 1, = U U fawed] § 9 9ad IugHR IR ST 98 BI91U
14 31 PUH ST U §: U 3B UH (Assertion-A) & &0 T [A7RET 8 A1 GERI IUD HRUI (Reason-R) & =Y H

HBYF-A: JHDHE &b GRH [dbed! gy 8l Sid 5

PRULR : HGAV P SR [ORIAT &1 [GHGSH & HRUT U] Bl gUdHol gidl 6|
IWRIFT HYA & P 1, -Id (U U [dHed] & J gl 3R &1 9094 By

(1) AR RS T8I § AR R, A FE1 AT &

(2) A SRR G 981§, dfd- R A B Wl ARAT 51 §

(3) ATEIE. APTR WL

4) ATEITEIE. APTIR TG

1[Option ID=48637]
2[Option ID=48638]
3[Option ID=48639]
4[Option ID=48640]

Sl. No.89
QBID:2715048364

Given below are two statements :
Statement I : The nucleolus plays a major role in ribosome synthesis.
Statement II : Hydrogenosomes have a double membrane and carry out metabolic processes that generate methane gas.
In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement I and Statement II are correct.
(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct but Statement IT is incorrect.
(4) Statement I is incorrect but Statement IT 1s correct.

SWRIGd HYT & 3Tai 1, = U U fawed] § 9 9ad IugHR IR ST 98 BI91U
14 31 PUH ST U §: U 3B UH (Assertion-A) & &0 T [A7RET 8 A1 GERI IUD HRUI (Reason-R) & =Y H

HIYHYA-A : AFETH 90 T Tfeadiasy U &7 YHST AU g

HRULR : EEg-EH § Ud aled f2reet gidl § SR 3 Surg=dt ufsarsdi & dieq T a9rd 21
IIRIad B & 3ielis 1, 919 Ru e fyswedi 8§ 3 9l IR &1 997 S

(1) A SRR EF T8 § SRR A D T8 AR §

(2) A SRR T8 5, AT R, A P! T8 AR Tl ©

(3) AHElE. dfb R el el &

4) A¥El TRl G, AP R WEl &

1[Option ID=48641]
2[Option ID=48642]
3[Option ID=48643]
4[Option ID=48644]

Sl. No.90
QBID:2715048365

Given below are two statements ;

Statement I : Amino acids vary in their acid-base properties and have characteristic titration curves.

Statement II : Some proteins contain permanently associated chemical components in addition to amino acids: these are called conjugated
protens.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement IT is correct.




2 21 Py ST T & TP MBYT (Assertion-A) & 9 T AT 8 O THRI 3YP TR (Reason-R) F &Y H

B Y-A ; 3fH URhs arat aet 4R fagiwansfi o fir i gid € sik 39a fa¥ s ap el §1
PRULR : TS WA H 3l TS & 1y-91y REey ¥ 96S JINAH® qed sid o |

SWRIF] HYA & P 1, 31 [0 U f[deedl & 9 Tal 3R &1 9094 Sl

(1) A SRR EH Ul € SRR A DI UG IR §

(2) A JRR G T8I &, AfG-TR. A DI UE! ARAT Tol ©

(3) AYEIE. APTR WG T E

4) AYEI TS, AP R TGI8

1[Option ID=48645]
2[Option ID=48646]
3[Option ID=48647]
4[Option ID=48648]

Sl. No.91
QBID:2715048366

Match List T with List IT

LISTI LISTII
A |Psychrophilic bacteria I |Thermal vent
B. |Thermophilic bacteria II. |Antarctica
C. |Hyperthermophiles III.  |Normal environment
D. |Mesophilic bacteria IV. |Hot water spring

Choose the correct answer from the options given below :
(1) A-IIIL B-IV. C-II, D-I
(2) A-IL B-IV. C-I, D-III
(3) A-IL B-I. C-IV, D-III
(4) A-L B-II C-III, D-IV

il 191 g4 11 9 OaH &

T 1 Tt 1
A |t Siar L |[SwEHew
B. |dTRAf Sian L |eferdbieamt
c. |sfaarRrh . |9 e
D. |qdrRrEfisign] | Iv. |7 ol &1 g
At fGu U fasedl © 9 Te! fdeed &1 90 B

(1) A-IIL B-TV. C-II. D-I
(2) A-IL B-IV. C-I. D-III
(3) A-IlL B-I. C-IV. D-III
(4) A-L B-IL. C-III. D-IV
1[Option ID=48649]
2[Option ID=48650]

3[Option ID=48651]
4[Option ID=48652]

Sl. No.92
QBID:2715048367




Match List T with List IT

LISTI LISTII
T
A DA I. |Plasmid vector with cos site
polvmerase

A small prece of DNA radioactive

B [Cybrid 3 1sotope labelled
C. |Cosmd IIT. |DNA replication
D. |DNA probe IV |Fusion of cytoplasm with whole cell

Choose the correct answer from the options given below :
(1) A-IIL B-IV. C-I. D-II
(2) A-IL. B-IV. C-I. D-III
(3) A-L. B-IV. C-II, D-III
(4) A-IIL B-1. C-IV. D-II

il 11 fore gl 1 8
Gl T I
A BlEE . |cos ®a T Y wied
© | et BEIEE
Siuan Yegided
B. @& 1. [GEeIHE & B HI Bl
REGAGTNES )
c. | A CIRE R REIE
b, [BET i TEe e S IE HifkIdT &
i fu U f[aeedl H O Ul fddbed &1 994 &

(1) A-IL B-IV, C-I. D-II
(2) A-IL B-IV. C-I, D-I11
(3) A-L B-IV. C-II, D-ITI
(4) A-IL B-L. C-IV. D-II
1[Option ID=48653]
2[Option ID=48654]

3[Option ID=48655]
4[Option ID=48656]

Sl. No.93
QBID:2715048368

Match List T with List IT

LISTI LISTII
" Couec.‘ric_m of genes of I |Mendel
an individual
B. |Law of Heredity II. |Genotype
C. |Spliceosomes 1. |Zinc finger analysis
D. |DNA finger printing IV. |Funm

Choose the correct answer from the options given below :
(1) A-L B-IL C-IV. D-III
(2) A-IL B-III, C-1V, D-I
(3) A-I.B-IV. C-II, D-III
(4) A-IL B-I. C-IV, D-III




FEI-1 & 1Y Y111 DT A S

T 1 T 1
" Hfdd & S DI L
B. |rIoifEm®i @ e I [Sfi U/ ST
C. [WaRdEH L |fSi® R farmu
D. |SluAu frefiem IV |®a®
4 fau e fowen & 9 95 TR o1 997 P -

(1) A-L B-II, C-IV, D-IT1
(2) A-IL B-III. C-IV, D-1
(3) A-L B-IV. C-II. D-ITI
(4) A-IL B-I. C-IV, D-II1
1[Option ID=48657]
2[Option ID=48658]

3[Option ID=48659]
4[Option ID=48660]

Sl. No.94
QBID:2715048369

Match List T with List IT

LISTI LISTII

Enrichment of water .
Al : 1. Omnivorous
bodv by nutrients

Animals consume both 1

B. TR NN B Eutrophication
Thermosphere III.  |Ocean
D Largest ecosystem in the oo I S -

world

Choose the correct answer from the options given below :
(1) A-IL B-III. C-I. D-IV
(2) A-L B-IL C-IV. D-III
(3) A-IL B-I. C-IV, D-III
(4) A-LI.B-II, C-III, D-IV

-1 & 1Y YI-11 D1 e Sifen
il e I
SeTEdld B gIuS
A e L |waked
TGy aYT Sia, gt
B. |®IHgUI ST | IL [gdwo
SHER
C. |swIagHsa I [HEMFR
b | TEu TS N |emree
il fdu U fased § 9§ Hel 3ar &1 98- BI91Y

(1) A-IL B-III. C-1. D-IV
(2) A-IL B-II, C-IV, D-ITI
(3) A-IL B-L. C-IV. D-III
(4) A-L B-II, C-IIL. D-IV
1[Option ID=48661]
2[Option ID=48662]

3[Option ID=48663]
4[Option ID=48664]

Sl. No.95
QBID:2715048370




Match List T with List IT

LISTI LISTII
Pedigree analysis I |Quantitative genetics
Barr bodies are found female sex
B. |- I
n chromosome
Male heterogamety I, |Human
Sex determination
D.  |was first studied in IV. |Melandrium
plant

Choose the correct answer from the options given below :
(1) A-IL. B-II. C-IIL. D-IV
(2) A-IL B-III. C-I, D-IV
(3) A-IL B-I. C-III, D-IV
(4) A-IL B-I. C-IV, D-III

-1 & 1Y YI-11 D1 e Sifen

1 ¥ 11
A |OTE fagemu L [AETES Sraie]
TRt ®eIade | 1L |l o s
C. | fqumgmH I [AFd

o

Fanum o fuim
D. |® @ faug | v, [Heltgaw
o fopar T
A1 14U T fooe § 9 9El IR &1 90 BT -

(1) A-L B-II, C-IIL D-IV
(2) A-IL B-III. C-1. D-IV
(3) A-IL B-I C-IIL. D-IV
(4) A-IL B-L C-IV, D-III
1[Option ID=48669]
2[Option ID=48670]

3[Option ID=48671]
4[Option ID=48672]

Sl. No.96
QBID:2715048371

Match List T with List IT

LISTI LISTII
A |Plasmid I PLasﬂ?uqi contain replication origin of
E.coli factor
B. |Cosmid II. |Extra-chromosomal DNA
C. |BAC 1T |Used for cloning in yeast
D. Ivac v H}-‘briﬂ plasmid contains lambda DINA
cohesive end

Choose the correct answer from the options given below :
(1) A-IL B-II. C-IV, D-IT1
(2) A-L B-IV. C-II. D-III
(3) A-IL. B-I. C-IV, D-II1
(4) A-IL. B-IV. C-I. D-II1




FEI-1 & 1Y Y111 DT A S

Tl I el 11

@RS 5 3 B Uh PRE B
A [wEs L \gRiafy o1 e g

B. |[if® 1L | 31fie oRE ST

c. [ftud 111 [ iR &1 ST & ferg Suam gl g
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D. |95 U §. v -

FrofaRad ool & T U8l SR &1 997 S
14U U fased § 9§ T8l 3R &1 98- B9

(1) A-IL B-II. C-IV, D-IT1
(2) A-IL B-IV. C-II, D-ITI
(3) A-IL B-L. C-IV. D-III
(4) A-II. B-IV. C-1. D-ITI
1[Option ID=48673]
2[Option ID=48674]

3[Option ID=48675]
4[Option ID=48676]

Sl. No.97
QBID:2715048372

Match List I with List II

LISTI LISTII
U L Sm?;i}ziloslgiules
B. |Log phase II. |Secondarv metabolites
C. |Stationary phase III.  |Primarv metabolites
D. |Death phase IV. |Cryptic growth

Choose the correct answer from the options given below :
(1) A-IV, B-IIL C-II, D-I
(2) A-L B-II, C-III, D-IV
(3) A-L B-IIL C-II. D-IV
(4) A-IIIL B-II. C-1, D-IV

Yail-1 & Q1Y Fi-11 BT FFar Sifere
T 1 T
A [0y @R 1 |3 Opai &1 Yo
B. |CTYUG AR 1L |70 SUTE=Es
C |mTeEe m |srufie IuheTs
D. [ 3a®( V. [Tdafg
A1 f4U 7T famen © 9 981 3R &1 99 BT

(1) A-IV. B-III C-II, D-I
(2) A-L B-IIL C-III. D-IV
(3) A-L B-IIL C-IL. D-IV
(4) A-IIL B-II. C-1. D-IV
1[Option ID=48677]
2[Option ID=48678]

3[Option ID=48679]
4[Option ID=48680]

Sl. No.98
QBID:2715048373




Match List T with List IT

LISTI LISTII
A |Edible fungi 1 |Saccaromyces
B, |Penicillin . |Agaricus
C. |Rustof Wheat m. | ::;;g;ﬁm
D. |Budding IV, |Puccinia writicina

Choose the correct answer from the options given below :
(1) A-IL B-IV, C-III, D-I
(2) A-IL B-III, C-IV, D-I
(3) A-I B-IV. C-III. D-II
(4) A-L B-IL.C-IV, D-III

El-1 & 1Y FI-11 DT e B

Tl I et 11
A |HIG Bad L[Sy
B. |[dfRfafem . [wifiEg
C. |f@gm L [OFSieras sragrsi-H
D. |qud v, oot e ddir
1= 14U 7T fooe § 9 9E! IR BT 90 BT

(1) A-IL B-IV. C-III, D-1
(2) A-IL B-III. C-IV, D-I
(3) A-L B-IV. C-III. D-I1
(4) A-I B-ILC-IV, D-III
1[Option ID=48681]
2[Option ID=48682]

3[Option ID=48683]
4[Option ID=48684]

Sl. No.99
QBID:2715048374

Match List T with List IT

LISTI LISTII
A | Microcystis 1 |Biofertilizer
B, |Anabaena II. |Nanandrous male
C. |Faucheria I |Toxin
D. |Qedogomium IV, |Coenozoospore

Choose the correct answer from the options given below :
(1) A-IL B-IV, C-I. D-III
(2) A-IIL B-IV, C-I, D-II
(3) A-L.B-IIL C-IV, D-II
(4) A-IIL B-L. C-IV. D-II

G-I & Y YAI-11 D1 e Sife
LI 11
A | ARy i g 3D
B. [T4TET IT. darH-1g X
C. [ . |snfaw
D. [31S M-S IV, TSR
4 fau T faw e & 9 9et SR @1 997 BT -

(1) A-IL B-IV. C-I. D-III
(2) A-IIL B-IV. C-1. D-II
(3) A-L B-IIL C-IV.D-II




(4) A-IIL B-1. C-IV. D-II

1[Option ID=48685]
2[Option ID=48686]
3[Option ID=48687]
4[Option ID=48688]

Sl. No.100
QBID:2715048375

Match List I with List IT

LISTI LISTIT
A |Auxin i Stomatal Closure
L Stimulate the growth
B [Cysakiming B of the late buds
C. |Gibberellins i |[fcmes ot
formation
D. |Abscisic acid IV, |Stem Elongation

Choose the correct answer from the options given below :
(1) A-III B-IV, C-II, D-I
(2) A-L B-IV. C-II. D-III
(3) A-IIL B-II. C-IV, D-I
(4) A-III B-II.C-I, D-IV

G-I & Y YAI-11 D1 e Sife

I 1T
MNIEIESE] INCIEEE]
Y ——s e %ﬂ%ﬁlﬁ@@ﬂﬁ?ﬁﬁmﬂ
C [FERfeH 11178 & &1+ &I WHIiad el ¢ |
D. [Tafafi® o IV, [d I "0
412 fgu Tt fasen § 9 Ugl TR &1 90 BT -

(1) A-IIL B-IV. C-II. D-I
(2) A-L B-IV. C-II. D-III
(3) A-IIIL B-II. C-IV. D-I
(4) A-IIL B-II.C-L, D-IV
1[Option ID=48689]
2[Option ID=48690]

3[Option ID=48691]
4[Option ID=48692]




